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AT 3397 :

HETfTRET 145911 &1 Sigad @raei] & 9igq 3R 37571 a&d] & e Hiog :

(i) I8 J¥7-Y7 GR @USl § fawifoia &9 7 8 — &, @, TUq g | 39 yA-97 §
30 397 & | @4t 3v7 s7f4ar & 1

(i) WIS F T o7 &I 18 7 7% 3a-TY-FHIT FBR & ag1 Fo7 &I 8 § 11
TFlAHHIT THR & J97 & | T4 Fo7 1 3% 1 & | 97 &7 12 713 3TeRT 8
7T 5 J97 4 3B FTE |

(iii) TS @ H J97 G471 13 G 19 7% TG-FR0T IJHR-1 & 97 & | Y% J97 2 3] 7

g/

(iv) WU T T Jo7 &7 20 & 26 7% TY-ITT JHR-II & T97 & | F9% 97 3 371 &1
g/

()  @UE g H J9T a7 27 & 30 TF FH-370T YER & Y97 & | I9b T 5 bl HT
g/

(vi) IR T T fagar &7 3T |

(vii) ¥oH-93 H GHT T FI3 3% 781 8 | a7 I9% TH-U 37% aici 3 Io1 8, 3l-31
37H! T 2 J¥I H, AH-T Bl T 2 IHI 7 3K Gra-gia IH qict 2 FoA 7
S7TaRF faeheT 13T 7T & | 07 Jo71 7 @ SacT T &7 [dheq &7 I [7lEw |

(viii) TET HTAVIF § TgT G G, FFIITH TIT TYIET FIHIHT 57 T3 |

(ix) §GF ik, JEVIHATIR, JAF GUE IR Jo7 & 1 FeId 19697 15T 717 & |

x)  TRETH (Fopaicdl) & ITINT B 3FHIG TETE |

{usg h
1.  GEOSd! FaeE o fole T daedy wesm § TR 91 STl Sl g 2 1
Uled ash W ITehell ik U i % fow dfeerw ufeva (TEH) w6
YN 41 fepa ST B 2 1
AYAT

JARTh UM Hagsh (dae) o folw Ti-warfsig & T-DNA (T-E1.T3.T.)
& H G LUA.U. TR hl T8 HH-9 g EL.UA.T. FIhH FdH fhU SId

g 1
3. 39 Uil #1 3Igrew e, St veAiftE e ufehva i srqufeafa % R
Hikl 1
aroraT
IAGTTHT AT AT HROT B ? 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A - Question nos. 1 to 7 are very short answer questions carrying
1 mark each. Question nos. 8 to 11 are multiple choice questions, carrying
1 mark each and question no. 12 is based on text carrying 4 questions of
1 mark each.

(iti) Section B — Question nos. 13 to 19 are short answer questions-I, carrying
2 marks each.

(iv) Section C - Question nos. 20 to 26 are short answer questions-II, carrying
3 marks each.

(v)  Section D — Question nos. 27 to 30 are long answer questions, carrying
5 marks each.

(vi) Answers should be brief and to the point.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in three questions of 1 mark, two questions of 2 marks,
two question of 3 marks and two questions of 5 marks. You have to attempt
only one of the choices in such questions.

(viit) The diagram drawn should be neat, proportionate and properly labelled,
wherever necessary.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(x) Use of calculators is not permitted.

SECTION A
1. Why is agar added to the culture medium used for culturing microbes ? 1
2. Pectinase enzyme is needed to isolate single cells from a plant tissue.
Why ? 1
OR

For genetic transformation vector, which two DNA sequences are cloned
in the T-DNA region of Ti-plasmid in place of unwanted DNA sequences ? 1

3. Give an example of a disease caused by the absence of the enzyme
adenosine deaminase.

OR

What is the cause of thalassemia ? 1
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4. QIS DNA Wenfieht ®, Few™ (insert) 91 8 ? 1
5.  Torm Sere™ wfcerR T1em & wmoft <A GraiATHT arffehter T g1 fierdt 8 2 1
ST

AHE T 39 Th A Icaiiadd 1 a1 ffgu St o-edt o ISIgshA I O 8

3T TUrES 7 W IR A R 1
6.  WIs WU SHIfRTH Ha 1 37°C W Teh 1T 1 H §Aeh [3ATd §T Hgul fohaT

T g | w2 1
7. Ui fafer gro sieerrsa wxan i g1 Hime (i) w g 2 1
8.  UicUfefiA Tghicl & Ueh 1

(A) GAIASH WA

(B) o™ ITSh

(C)  SEA-TeIH Itioieh

(D) faved o
9. fTmafafed # 9 -1 T Ufdeed T~ee €. T § FEs] R s g 2 1

(A Alul

(B) EcoRI

(C) Bam HI

(D)  Hind IIT
10. foreft wofm (SfFm) gra i stfireafxh o qui qUek o1 o1eeH N hEaar g 2 1

(A)  WfeTm
(B) Wifeaifaewm
(C)  Sifoeg
D) TN fageyo
11. f=fafga 8 @ w9 Raef e s e 8 2 1

(A) & FHY Th HAGHT T THIET
(B) &% fshteat (WTUTY) S o SHRUT HIfThT BT (THEH) I Ukl
(C) 3idfdse fug s97 & el

(D) 33 SIS Wi ¢4 AT
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4.
5.

10.

11.

In recombinant DNA technology, what is an ‘insert’ ?

Which database retrieval tool carries information on taxonomic
classification of an organism ?

OR

Name a single gene mutation in humans which follows Mendelian
inheritance, having chromosome 7 as its genomic location.

Frozen animal cell culture should be thawed in a water-bath maintained
at 37°C, with moderate shaking. Why ?

What are the two limitations of the germplasm conservation through
conventional methods ?

Polyethylene glycol is a

(A)  Fusogenic chemical

(B) Callus stimulant

(C)  Electrofusion stimulant

(D) Differentiation stimulant

Which one of the following restriction enzymes produces blunt ends in a
DNA fragment ?

(A) Alul
(B) EcoRI
(C) Bam HI

(D) HindIII

The study of full complement of proteins expressed by a genome is called
(A) Proteome

(B)  Proteomics

(C) Genomics

(D)  Protein analysis

Which of the following is a function of cryoprotective agents ?
(A) Long-term preservation of cultures

(B)  Prevention of cell damage due to ice crystal formation
(C)  Prevent formation of inclusion bodies

(D)  To trap the liquid nitrogen
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o7 G 12(i) @ 12(iv) % & F¥7 [HElrEd yﬁ@ (39‘817) 7T SR 8 :

12.

s (39-fagt) dftfeafaat & ofata Siq IRl 1 G wd g0 ST

Wifdes, TuT G BHT TR BHT AR | Wifdes 9hieRer § armaHH 837°C,
pH ST 7 — 7-4, WHIAAT 3T T YT BHT SGT dlfeh shifSThI3A ol

Mfaer, TE@H qen FifHe e 8 s=rT S Heh | I1+1+1+1
(i) 39 GaY 1 YR od13C S @1 Sfid 39 | hifres qrem 4 fafv
fore STaT @ |
A)  Tediaes Sifser 9w
(B)  hIfSIehT I
(C)  nfHer Shifsrent Tad
(D) AR hIfTeT Had
(i) g =hifsreRt Gad 1 pH fored et gmar 8 2
(A)  CO, I Iufeafa |
(B) WTEhIEINE 9% Sl 3ufeafa &
(C) &I o TISH &
(D) Tufgs Uflrs = wem @
(iii) ~ SIq IR FaY o HIEAH hl THITAT H &I ATGH o 9Tt &
(A) THSH QAT ThE
(B) €\ qen gfasifaeh
(C) Hifsaw agFEMHE a1 CO,
(D) A T8 qen oo s
(iv) ;ﬁﬁnw gad o folu fohd TraTSH gRT ShITehIA b1 fage fohal ST
?
A Tefoem
(B) AT
(C) IR
(D) (A) 3R (B) THT
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Question numbers 12(i) to 12(iv) are based on the following text :

12.

The culturing of animal cells under in-vitro conditions involves
appropriate physical, nutritional and hormonal environments. The
physical environment includes controlling the temperature maintained at
37°C, pH around 7 - 7-4, osmolality and gaseous environment by
providing a supporting surface and protecting the cells from physical,

chemical and mechanical stress. I1+1+1+1

1) Name the type of culture which is prepared by inoculating directly
from the tissue of an organism to the medium of culture.

(A)  Secondary cell line
(B)  Cell line
(C)  Primary cell culture

(D) Transformed cell culture
(i1))  pH of culture (animal cell) medium is controlled by
(A)  Presence of CO,
(B)  Presence of bicarbonate buffer
(C)  Addition of bases
(D)  Addition of citric acid

(iii) Major contributors to osmolality of medium for animal cell culture
are

(A)  Salt and glucose

(B)  Serum and antibiotics

(C)  Sodium bicarbonate and CO,
(D) Phenol red and trypan blue

(iv)  Disaggregation of cells for cell culture can be achieved by the
enzyme
(A) Trypsin
(B)  Collagenase
(C)  Chymotrypsin
(D)  Both (A) and (B)
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13.

14.

15.

16.

17.

18.

19.

20.

21.

LCLERC]
U G9g 991 be-oF (Y =) Fad § 31y Tase hifu |

qfiSITd dem U €1.UA.T, 31T | 3Tt Tuse HIfry |
AT F© NGl 1 FH ek H WHIHFIRTH T3151~7 & AV L &, F1 ?
Th UM % SR r-HuEPO % 1 @19 & ? Tohegl @ ol Feftag i |

forft Sedifa st el g8 (S h1et) =T SATeher shifoe ford st i ae
TETATR Jhg % TR = o GRE 104/mL F 107/mL T 56 I 3 |

foret feu T Wi % =afa wfierm o swHe @ gTe de dur TR
AT | UHT i G AT AT B 2

Jrera
fore We ‘anfuaes siwe Hrelfieh RIS WIEHT 1 gU H 3c9a i & oy
GErsid! fohve & 98 2 ? is a a1 IRaT |

fre YR ufdeyd TieH @1 Ufday aiadd aF ST § g  F @ SR
T 7 ?

AT
FANT T 37 T-oATgHI Sl 13 odTST
B.TH.T. AT qAT AT BIEhSH

Queg 1

fefafaa = fou o e .

(a) SIS A Sl HE T AYAT GESh €A Dl v E.uAU |
TAMTIS &l AT AT |

(b)  INyeAh HaTEh ol USS T AT &, Al fIdig WA qras} d s= T
(Sedrfea ) & |

(¢ WHR (Fiee) =1 Gorfgs S Afireafs & foru one =i 9 Sran @ 2

Teh 3TEW g fafie &idl & Ted TehEH™ IEH i Twigsi hl ol i o
ToTu 3w hl S HeRd dTed] ek dehdieh o1 U ShitoTg |
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SECTION B
13. Differentiate between Batch and Fed-Batch culture. 2
14. Differentiate between Paralogous and Homologous DNA sequences. 2

15. Why do the scientists artificially infect the plants with Agrobacterium
rhizogenes ? 2

16. r-HuEPO has advantages over blood transfusion. List any two of them. 2

17. Calculate the generation time of a bacterial population in which the
number of bacteria increases from 104/mL to 107/mL during four hours of
exponential growth. 2

18. A recombinant vaccine is prepared using the selected epitopes of a given
protein. What are the advantages of doing so ? 2

OR

‘Molecular pharming’ has advantages of producing recombinant protein
in milk as compared to microbial fermentation. Write any two
advantages. 2

19. How does Restriction Modification system work as a defense system in

bacteria ? 2
OR

Give the function of these enzymes in cloning : 2
DNA ligase and alkaline phosphatase

SECTION C

20. Give reasons for the following : 3

(a)  Cos sites or cohesive sites of bacteriophage lambda should not be
replaced by the insert DNA.

(b)  Expression vectors are preferred, if the foreign protein has to be
produced in the host.

(c) Yeast is a preferred host for the expression of eukaryotic genes.

21. With an example, describe a technique which can be used to compare the
peptides of a similar protein from different sources. 3

DoS¥Foaded From : http://chsepdrtal . con Courtesy : PCB3E


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

22. (a)

(b)

qE garg foham |Ten <Al Afoehla w1 | g %d 8¢ A, B, C, D, E
qgalﬁQ |

H17ed Garg 1597 9197 AT ar9T
& A
NEH B
C TeTAh (3TTULA)
D AT, U (fheh), geprt (H1S)
I E
T8 Jfeehr v fosma & fora & § v 4 ot et R 2
AT

TRSHIAFT el 9 forg YohR o1 fagaiwor femam ST Hehdt B 2

23. faoh@ & A ISR ThA § IiEdd o1 I1EIH hid 90 ATRE 311, S8 &
ATATRT FT A ?

24. T A GIEH i fafime spgentor aneft foams T ?

Sy bl WA R fafsrse fspam
(mg) (units) (units/mg)
(1) | sTemfea frees 20,000 40,00,000 200
ESEL R IEE
(ii) () 5,000 30,00,000 600
(iii) | rA-fafam=
VNN 200 8,00,000 4,000
(iv) | ST SHIEEHTH 150 7,50,000 4,000

(a)
(b)

ISR hl - fofe god S0 gewqul 8 3R i ?
ISR FfshaT o Tcdeh <ROT < G1Y IEH hi Pt AT | AT RT3
W g ?

25. SwdfEn # uicheggiadisgeeie (PHB) Ul & o 3 219 § | @1 ? Th o

SATSY | AJARThT: SSI-ANd SNESITEH (Arabidopsis) 7 39 TUET Hl A
Y fyeprem 8 2

(a)
(b)

AAAT
“Meed Tse 8 Taerfaa foram mm 2

foreht wep asfer 1 AW wargy e e wgw’ fomfaa fomam |
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22.

23.

24.

(a) Complete (Identify A, B, C, D, E) the comparison of Human
communication language with Biological Language.

25.

Human Communication Language Biological Language
Alphabet A
Words B
C Operons
D Turns, Kinks, Bends
Chapter E
(b)  In which field of science, is this biological language used ? 3
OR
What kind of analysis can be carried out using Bioinformatics tools ? 3
What were the observations made by Margaret O. Dayhoff while studying
the variations in protein sequence during evolution ? 3
A typical purification scheme of a desired protein is shown :
Procedure Total Protein ACtlYlty SpemﬁF Activity
(mg) (units) (units/mg)
(i) | Crude extract 20,000 40,00,000 200
(ii) | Precipitation 5,000 30,00,000 600
Ton-Exch
(Gif) | o xenanse 200 8,00,000 4,000
Chromatography
., | Affinity
(iv) Chromatography 150 7,50,000 4,000
(a)  Which step of purification is of least importance and why ?
(b)  Why does the total amount of protein decrease with each step of
the purification procedure ? 3
PHB (Polyhydroxybutyrate) production in bacteria has many drawbacks.
Why ? Give one reason. How has genetically engineered Arabidopsis
solved this problem ? 3
OR
(a) How is ‘Golden Rice’ developed ?
(b) Name any one scientist involved with the development of ‘Golden
Rice’. 3
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il
26. SRS fFoAeEe Taar Fud fafa g I I 8 IR H T
HIfT | IR (Y) €.TA.U. T 1 AhA fARau | 9T ThH I EcoRI
T-ATSH I 9T o 31l TE WX 9Ted 31shH | 3799 he ot quIfsy | 3
ddA ddT ddG ddC ERIS
_ i e
LCicho]
27. (a) YideEd @S T3 SgE9al (RFLP) &1 8 ?
(b) Thd @ AR & Uldeed ©s a3 sgeadl (RFLP) %4 wh-38
(THTTTH) B Hehd @ ?
(¢c) RFLP % g 9T Samsy |
(d) yfdeg T 21y 11 & YIS DNA Wenfiehl 3R RFLP S #
39N § I AT 7 2 5
28. (a) ot T ] ? hotd Had T UG Hefoh T H S5d Hew § | & ST
4d BT gfe Y |
(b)  HEfIEH (Cybrids) H sd & ?
() YUY HaY I F5d AT Hew | HH 2 1+2+1+1=5
arera
(a) ‘qUIRRRAT ¥16g hi TR faRaT |
(b)  GEH-YAHUA WfshaT o IR G&F <O Yeleg hIT | 1+4=5
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26. Read the sequence from the gel, obtained by dideoxy nucleotide chain
termination method. Write the sequence of the original DNA strand. Also
show the cuts produced in the obtained sequence by subjecting the

obtained sequence to digestion by EcoRI enzyme. 3
ddA ddT ddG ddC cathode
— anode
SECTION D

27. (a) What is Restriction Fragment Length Polymorphism (RFLP) ?
(b)  Which two individuals can have the same RFLP pattern ?
(c) Give two applications of RFLP.

(d) Why are Restriction Enzyme type II used in recombinant DNA
technology and in RFLP generation ? 5

28. (a) What is a callus ? Callus culture is of great significance in plant
tissue culture. Justify, giving two applications.

(b)  How are cybrids produced ?

(¢)  Endosperm culture has a great commercial significance. How ?

1+2+1+1=5
OR
(a)  Define the term ‘totipotency’.
(b)  List four major steps in the process of micropropagation. 1+4=5
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29.

30.

(a) HISHAM 1 8 2

(b) WM 99 hl Ufshan &1 Juid hifsre |

(¢) WeNAM-fagm (ersiHiided) ggfd =1 gawa adrsu |

AT

(a) WE gEuSid! Sg-Srenfiehl § e qggell | Y@ o= &1 8 2

(b)  GEASHE! TG FhgT T dTel shrg sl YfHeRT FATST |

(c) GEuSial & ARNThasys Haed HIhl THY (TTel) o Sha-ed &d 8 |
*Y ?

(a) dTeL Acd §d HAAR o 8 & &g Wt 99 A & 3-D a1 (FC=)
S H HEaqul % R B |

(b) U H R AEY T AH HA F AT 7 |

(c) UMK & haT FTEAT o T AT T VRIS (RBC) w1 g6 &9
IEER R |

(d) EIUH T THHT 3Tl & ITIHAY § AT 8 |

(e)  Tehfd § WIEHI sl =qseh (FATT) TLAHT Hiceh ek it & |
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29. (a)
(b)
(c)

(a)

(b)
(c)

What is a Metagenome ?
Describe the procedure of developing a metagenome.

Give the importance of Metagenomics approach.

OR

What are the main considerations for safety aspects, specific to
microbial biotechnology ?

State the role of microbial culture collection centres.

Lyophilized cultures of microbes remain viable for several years.
Why ?

30. Give reason for the following :

(a)

(b)
(c)

(d)
(e)

Van der Waals forces are weak forces but still play a significant
role in determining the 3-D structure of biomolecules.

Strength of ionic bond is reduced in water.

Sickle shape of RBCs are responsible for anemic condition of
patients.

Mass spectrometer is advantageous for sequencing of amino acids.

Quarternary structure of proteins are multimeric in nature.
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